1= (% Cosine Vve =)
in2:= f [X_1:=X

n11:= sumim, X_1=3/2 +Sum[-(12/ (Pi "2 2k -1)72)) Cos[(2k -1) Pi *x /3], {k, 1, n}]

3 1 1 ) 2 1 2. m ) 2. 1
out[11]= 5 ——2 7T23e‘3“”< (LerchPhl [e‘sl”x, 2, E] - (e‘s“”‘) Ler chPhi {e‘s“”‘, 2, 5 +m| +
2inx . 2inx 1 2inxy\ 1+m . 2inx 1
e s LerchPhi [e 3, 2, —] - ((e 3 ) Ler chPhi [e 3, 2, —+mU
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n(12):= Pl ot [sum[1, X], {X, -4, 4}]

Out[12]=

-4 -2 2 4

n[iz= Plot [sum[2, x], {X, -4, 4}]

out[13]=

-4 -2 2 4



2 | coswave.nb

n(is):= Pl ot [sum[5, X], {X, -4, 4}]

Out[15]=

| . . . . . . . . . . . .
4 -2 2 4

n[17]:= wave[m, x_, t_]:=
3/2 +Sum[-(12/ (P "2 2k-1)"2)) Cos[(2k-1)Pi *x/31Cos[(2k-1) P %=t /3], {k, 1, m}]

niig):= Pl ot [wave[5, X, 0], {X, 0, 3}]
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coswave.nb |3

ni21:= Pl ot [wave[5, X, 0.5], {Xx, 0, 3}]

251

201

out[21]= 15
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n1ol:= Pl ot [wave[5, x, 1], {X, 0, 3}]
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out[19]= r
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ni22;:= Pl ot [wave[5, x, 1.5], {x, 0, 3}]

3.0

25

20

out[22]= 15
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4 | coswave.nb

ni2o;:= Pl ot [wave[5, X, 2], {X, 0, 3}]
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ni2s):= Dwave[l, X, t], {X, 2}] -D[wave[l, x, t], {t, 2}]

out[25]= 0

ni271:= D[wavel[4, X, t], {X, 2}] -D[wave[4, X, t], {t, 2}]

out[27]= 0



